neljd murtolukua, desimaalit, toimintojen jirjestys
= suluilla

Paivamaara: Pisteet:

3
)= 20(2,6-2)+5x5+2,1 =

1 2
~x10+5+5(2+5,8)=
2 (3 b )

1w

4,7+2)x2 -

1 1 3
— +4(5,5-3,7) = 4+2=+2)=

| 1 3
S+ -)=2x2+ - = - +4(5,6-3,1)=
( 4) X 3 5 (9 3)

. _ 1
5,1 x8+4+4(52+5,4) (6+3,3)><5—4,8=
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neljd murtolukua, desimaalit, toimintojen jirjestys
suluilla

4,7+2)x2—

1 77 7
~+4(5,5-3,T)=— =T—
PRSI T AT

1 1127 1
Yy =2x24 2=l
B+ 7272+ 3= 3 3

263 3
5,1 x8+4+4(5,2+5,4) = = =52§

Paivamaara: Pisteet:
3 421 1
202,6 — =) +=5x5+2 1= —=42—
2, 5) - ’ 10 10
1 2 100 1
—x10+-5+5(=+5,8)= — =33-
2 (3 %) 3 3
1 3 38 3
> (2 5) 5 75

3 53 3
Z44(5,6-3,1)="" =10
5 FH673 D=3 5

1 188 8
Z+3,3)x5-4,8=— = 12—
33 T 15
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